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oH DO BOD SS KEEHK
(mg/1) (mg/) (mg/l) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE (75%1E) - 9.6 0.9(0.9) 2 4300
48] 67 9.8 0.9 <1 230
6A] 66 9.2 <05 <1 500
8A| 70 85 <05 1 800
10A] 6.9 10 24 5 24000
128] 68 10 <05 <1 230
28 7.0 10 0.7 <1 11
BFEER
NP INESD E NEonL  fE HiKEE  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA(E] 0.01LLF | E#EHE | 001LLF [0.05LLF [ 0.01LLF | 0.0005LLF
I {E - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -
ooant .o |1L,2-070(1,1-Zan| Y X-1,2->50][1,1,1-r)%0
PCB g, | PEERE | Qe | xRl OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAEE] ERE [0.02LLF ] 0.002LLF [0.004LLF [ 0.02LLF [ 0.04LLF 1LF
B3] - - - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -
1,1,2-ky4 [FUZAR|FrS9a0I(1,3-247A — . —sen FARA
nazss | 3Ly | FLv | ngas | TOIA| YROV %)
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F] 0.03LLF ] 0.01LLF [0.002LLF [0.006 L F| 0.003LLF | 0.02ELF
B3] - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -
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(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] 0.01LLF [001LLF[ 10LLF 0.8LLF 1LLF
EEZS = = - - -
2/ - - - - -
6Al - - - - -
sAl - - - - -
104 - - - - -
124 - - - - -
28] - : : - -
ZTDHIEE
N—A~FH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TiHiE - 0.35 0.022 - <0.005 - -
4R - 0.50 0.051 - <0.005 - -
6H = 0.27 0.017 - <0.005 - -
8A = 0.28 0.016 - <0.005 - -
10AH = 0.45 0.014 - <0.005 - -
124 = 0.30 0.011 - <0.005 - -
28 — 0.32 0.020 — <0.005 - -
(Y AR | UV B . - e = i s
IT/=| kS coD el > AE BRIzEXR
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
TEE - - 1.1 - E - 66
4A - - 0.7 - - - 66
64 - = 0.9 = = - 49
8H = = 1.2 - - - 100
104 - - 2.6 = - - 51
124 - = 0.5 = = - 72
28 - - 0.6 - - - 60
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HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 9.8 1.4(1.6) 1 750
48] 67 9.8 16 <1 300
6A| 65 9.6 <05 <1 800
s8A|l 74 9.9 <05 <1 800
10A] 6.9 9.6 4.7 3 2400
12A] 70 10 <05 <1 170
2A] 70 10 0.8 <1 17
BEEE
N INESS & ) AR ES ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E(E] 001LLTF [ JEHEH | 001LLF [0.05LLF | 0.01LLTF | 0.0005LLTF [ FE4EH |
B3] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
10A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
o004 nwe |1,2-090[11-S500|P2-1,2-250(1,1,1-k)50
PCB 5 bR Ak 3 axs | T A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eiE] JERE [0.028LF | 0.002LLF [0.004LLF | 0.02LLF | 0.04LLF 1LF
EE[ <0.0005 [ <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
4 B[ <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6A| <0.0005 [ <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,12-ky4 MO0 (F549a0x(1,3-990 = s = ose FARUH
nazsy | TFLY | FLy | @ox | TOIL | YRTY ]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 L 0.03LLF | 0.01LLF [0.002LLF [0.006 L F| 0.003LLF 0.02LLF
ElE[ <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.24 <0.1 <0.1
4H] <o0.001 <0.001 0.29 <0.1 <0.1
6A] <0.001 <0.001 0.20 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.25 <0.1 <0.1
12H] <0.001 <0.001 0.23 <0.1 <0.1
2R - - - - -
ZDHIRE
N SR | 28 @ | 2E® | sankus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
T{E - 0.36 0.022 <0.04 <0.005 <0.001 <0.008
4R - 0.45 0.044 <0.04 <0.005 <0.001 <0.008
64 - 0.30 0.018 <0.04 <0.005 <0.001 <0.008
8A - 0.33 0.019 <0.04 <0.005 - -
10H - 0.40 0.015 <0.04 <0.005 <0.001 <0.008
12H - 0.28 0.012 <0.04 <0.005 <0.001 <0.008
28 - 0.39 0.025 <0.04 <0.005 — —
BiLH BRIHERTE | )BT ; = i S
EE e ity cobD el > AR BREEE
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 36 1.3 <0.01 0.02 - 2100
4AH| <0.02 37 0.6 <0.01 0.03 - 190
6A] <0.02 15 0.9 <0.01 0.01 - 94
8H - - 2.0 - 0.03 - 11000
10H]| <0.02 7 2.7 <0.01 <0.01 - 65
12H]| <0.02 85 <0.5 <0.01 0.01 - 660
28 - - 0.9 — 0.01 — 470




